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P: Opposite sides are parallel. S: It has line symmetry.

R: It has at least 1 right angle. C: It is convex.
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a) Draw shapes using 4 unit shapes. b) Draw shapes using 9 unit shapes.
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a) 27     100  =  270× ×

49     100  =  4900× ×

60     100  =  1000× ×

34     100  =    10× ×

92     100  =  920× ×

b) 130     100  =  13× ×

19     1000  =  1900× ×

160     100  =    10× ×

20     1000  =  100× ×

17     1000  =  170× ×
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A Multiple of 3 B Divisible by 5
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a) 697     3  +  802     8 × × 697     8  –  802     3 × ×

b) 268     7  +  144     9 × × 268     9  –  144     7× ×

c) 2357     6  –  469     4 × × 2357     4  +  469     6× ×
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